Challenge —the whole units problem!

You may have noticed that when the spreadsheet calculates the number of jars/bags of a topping,
it calculates it as a decimal if it doesn’t happen to be a whole number - as in the screenshot below.

This is like going into the supermarket, putting seven packets of cheese in our trolley and then
taking half out of another packet since that’s all we need!
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Can you think how you might tackle this problem with the spreadsheet?

Perhaps you could research whether your spreadsheet program could round the number up for you?

Or maybe you have a better solution?
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